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Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra time
will be given.

(iii) After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Bxample : (7D ® ©

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside this Booklet, which is common for
Paper I and Paper I1. If you mark at any place other than
in the ovals in the Answer Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.

12. There is NO negative marking.
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Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.
T TS H U (50) - foaRed T U9 €1 T W 6 & (2) 3k €| |l IRl o S|
difa |

Which of the following comprise teaching skill :
(A) Black Board writing (B) Questioning
(C) Explaining (D) All the above

Which of the following statements is most appropriate ?
(A) Teachers can teach.

(B) Teachers help can create in a student a desire to learn.
(C) Lecture Method can be used for developing thinking.

(

D) Teachers are born.

)
)

The first Indian chronicler of Indian history was :

(A) Megasthanese (B) Fahiyan

(C) Huan Tsang (D) Kalhan

efifafead | 9 sTeamd iR fohe €2

(A) - AET  (B) U & (C) wHEF (D) ST g+t

efAfed aadel § S o AfHe e © 2

(A) Toerh steama R Hhd |

(B) Torereh foremfelei & I UTH A T TeRTaN S F HWehd ¥ |

(C) TaA-ufehan & o % T = yomedt 61 SuainT faman ST ekt 2|
(D) freres Ter € B

Y YRA o 9UH YRGS Siae™er o :
(A) TR (B) WHE-IM (C) TIH & (D) heTed
WXYZ —00 3 P.T.O.

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




4.  Which of the following statements is correct ?
(A) Syllabus is a part of curriculum.
(B) Syllabus is an annexure to curriculum.

(C) Curriculum is the same in all educational institutions affiliated to a particular
university.

(D) Syllabus is not the same in all educational institutions affiliated to a particular
university.

5.  Which of the two given options is of the level of understanding ?
() Define noun.
(I) Define noun in your own words.

(A) OnlylI (B) Onlyll (C) BothIandII (D) Neither I nor II

6.  Which of the following options are the main tasks of research in modern society ?

() to keep pace with the advancement in knowledge.

(I)  to discover new things.

(IlI) to write a critique on the earlier writings.

(IV) to systematically examine and critically analyse the investigations/sources with
objectivity.

(A) IV, IIandI (B) L IIand I (C©) TandlI (D) II I and IV

7.  Match List-I (Interviews) with List-II (Meaning) and select the correct answer from the
code given below :

List - I (Interviews) List - II (Meaning)
(a) structured interviews (i) greater flexibility approach
(b) Unstructured interviews  (ii) attention on the questions to be answered
(c) Focussed interviews (iii) individual life experience
(d) Clinical interviews (iv) Pre determined question
(v) non-directive
Code
(@ (b)) (o (@)
(A) Gv) @ () (D)
(B) G) (v) (@) (D)
© M @ @) @
D) @ () (V) @)
WXYZ —-00 4
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4. Trefafed gwe § 9 w8 9@ 8?

(A) TISTShE ISAfeRvT T AT T

(B) UISIShH UISHTIERU hl Ter-ish 31T T |

(C) ISIfaeR 3 Geit foreqor weensii o1 < foret forvaferaner fodm @ wwerg € & 9o
AL

(D) UrTeRA et fovafaemem fox § g weifarmerdl § T 99 T8 2 ¢ |

)
)

5. frafafead 31 foskedl 9 99 & ®R'' % STTE S © 2
() E1 ! A
(I) S99 3eal H G ! AT
(A) WHI (B) WHII (C) 1WA (D) ITWEIH A HE ot 7|

6. mifafed ¥ 9 aduE TuS | Y w1 g©T wE T
() I gfg skt afsran | eI |
(II) 3 =3/ Al 1 ST |
(D) o forgt T e ot wHte
(IV) SN/ =di st gararg qde a1 3T fomaf1g grer=mmees fogetsm |
(A) IV, IITE 1 (B) I IITHIII (CQ) 1T&II (D) I I T& IV

7. I (WETeERR) i THer FE-10 (1) § i qen e fu T e § w98 S ¢
T - 1 (HTETTRR) T - 11 (379F)

(a) TIAES HATEHR () It T SUm
(b) TR &R (i) TSH T o1 SR ST § T W A
(c) <hfsd HETERR (iii) STt Sem 1 /gy
(d) IR HETERR (iv) qa-fauifa ge
(v) FH-TIesTHS

g

(@ B () @
(A) (v) (@) @) (i)
(B) (@) (v) (@) (i)
© v @@ @) O
(D) @ (@) (v) (@)
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10.

11.

What do you consider as the main aim of inter disciplinary research ?
(A) To bring out holistic approach to research.

(B) To reduce the emphasis of single subject in research domain.
(C) To over simplify the problem of research.

(D) To create a new trend in research methodology.

One of the aims of the scientific method in research is to :

(A) improve data interpretation (B) eliminate spurious relations

(C) confirm triangulation (D) introduce new variables

The depth of any research can be judged by :
(A) title of the research.

(B) objectives of the research.
(C

(D

) total expenditure on the research.
)

duration of the research.

Read the following passage and answer the questions 11 to 15 :

The superintendence, direction and control of preparation of electoral rolls for,
and the conduct of, elections to Parliament and State Legislatures and elections to the
offices of the President and the Vice - President of India are vested in the Election
Commission of India. It is an independent constitutional authority.

Independence of the Election Commission and its insulation from executive
interference is ensured by a specific provision under Article 324 (5) of the constitution
that the chief Election Commissioner shall not be removed from his office except in like
manner and on like grounds as a Judge of the Supreme Court and conditions of his
service shall not be varied to his disadvantage after his appointment.

In CW.P. No. 4912 of 1998 (Kushra Bharat Vs. Union of India and others), the
Delhi High Court directed that information relating to Government dues owed by the
candidates to the departments dealing with Government accommodation, electricity,
water, telephone and transport etc. and any other dues should be furnished by the
candidates and this information should be published by the election authorities under
the commission.

The text of the passage reflects or raises certain questions :
(A) The authority of the commission can not be challenged.
(B) This would help in stopping the criminalization of Indian politics.
(C

(D

) This would reduce substantially the number of contesting candidates.
)

This would ensure fair and free elections.

WXYZ—-00 6
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10.

11.

AT MY % e | SATIh! 1 R 72
(A) N9 1 FHEATEHS faeeteo

(B) g & H form fow st iz =01 & e
(C) Ny oI hl STreredehdl | 3ifeeh T oM
(D) =hy yfafy ® 75 ygfa &1 g

STHYM H SR IS 1 T I e T

(A) TeRgl & faeersm § gur (B) T9Y Ud Ffequl et w1 Fraro
(C) g3 STIeira iR wlten &l gAfved e (D) 74 AW TUSI 1 HAWT

Yy =t T e fhe T | ffed 22
(A) Y I e (B) MY BN ARSI qea
(C) MY W@ &l TS TR0 (D) =Ny ¥ Afqa 999

SreNfeafEd 3EI0T Tl U 3T U9 WE&AT 11 | 15 T TS ¢

T % Tpuld IR Swpuld, Tug IR faum qwisi w1 g9 = & ol waem e
TR A aen e / fee e & ifueR fatem e @i fed @ € fratem e T
T G R AR |

Hfau™ o TT=% 324 (5) % qed foRIY EYMl o SIRC fai=d TN i @a=d a2
HTITICTeRT % X4 | ITh! W& GHAREd &l T €1 37 WaHHi % qed e Hated Sge &
3T I8 9 had 3% IRfEfqE § germn S wwhar €, A uRftfiE ¥ o =mea &
YT BRI ST Whd § AT 3Hh! (IR o qvEd e fated g ot Ha-ud 39w
o T T ek T B0 |

Tafaar Re fUdem . 4912/1998 (GIW 9RA oM A A1 sfedn wd o) H fooeit
= e | fdw fen o Sefiearl w et et If fagd, Sie, oofie @i 2idre &t
ST IR AT PFTaH STHIREAR 1 foha 1 =feq. 3R 39 9 Hafod o STEnT & 21efi=
Trai=m sAfeemiEl g/ yertferd shi ST =fey |

T IS0 H IS T YT bl Yfdfeiferd et & a1 Il ¢

(A) THatem S Y | S A T ST Hehdt

(B) THY YR TSI o TR0 ol b H Harl et
(C) HA gAE | 9 oF oTel SFHICaR st T H T et
(

)
D) 48 frousr wd fraiy gma b1 giafeea sam
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12. According to the passage, the Election Commission is an independent constitutional
authority. This is under Article No. :
(A) 324 (B) 356 (C) 246 (D) 161
13. Independence of the Commission means :
(A) have a constitutional status. (B) have legislative powers.
(©) have judicial powers. (D) have political powers.
14. Fair and free election means :
(A) transparency (B) to maintain law and order
(C) regional considerations (D) role for pressure groups
15. The Chief Election Commissioner can be removed from his office under Article :
(A) 125 (B) 352 (©) 226 (D) 324
16. The function of mass communication of supplying information regarding the processes,
issues, events and societal developments is known as :
(A) content supply (B) surveillance
(C) gratification (D) correlation
17. The science of the study of feedback systems in humans, animals and machines is known
as :
(A) cybernetics (B) reverse communication
(C) selectivity study (D) response analysis
18. Networked media exist in inter-connected :
(A) social environments
(B) economic environments
(C) political environments
(D) technological environments
19. The combination of computing, telecommunications and media in a digital atmosphere
is referred to as :
(A) online communication (B) integrated media
(C) digital combine (D) convergence
WXYZ—-00 8
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12. 39 3§01 & STIER AOUM & T de % SAqIa A A T w|ad
iR TR |
(A) 324 (B) 356 (C) 246 (D) 161
13. fatem 1T st o & o1 ©
(A) G gt g (B) Taemh wifsmal emor e
(C) e wifeal ST e (D) TS SIfeaT SROT T
14. Troney wd fraiey g o1 o1 7
(A)  IRERian (B) hIA TS Herell HIIH W
(C) &fta 9Tl W &AM < (D) <oE-GHRl o o fiem
15. 3I=% % ST G IS ST hl 3Tk U U ST S Fehall ¥ |
(A) 125 (B) 352 Q) 226 (D) 324
16. HESIe TOR 61 S Fol &1 Suatey, fafy, s % iR auwneii & et fasm &
Tl | T T | 9 Ui 1 el A
(A) T sfifdeh TER (B) Wfshen a1 <hepelt
(C) AT Iqafey (D) UREAReR He i gy
17. Ao, Wl SR wefiel ® ge Suafsy st ufshan o 1emee o fae ol ST e ®
(A) HEeHCH (cybernetics) (B) =l I et hH
(C) TrfSa wa Herford steaas (D) YREafte I8 I forgeraor
18. 2o YER Ufehan Ten fefafaa def o dua & -
(A) g 9few (B) efefen aRfeerdt
(OIEERIERIGRIN (D) TehHehl TTaROT
19. fefSea amdmere # Hr=fén, gu-umie yoR ue Hifea & g<d 9§ 2 €
(A) AR gia | w0 (B) TUehidhd UHR HIEAH
(©) fesitem Haham (D) e
WXYZ —00 9 P.T.O.
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20. A dialogue between a human-being and a computer programme that occurs
simultaneously in various forms is described as :
(A) man-machine speak (B) binary chat
(C) digital talk (D) interactivity
21. Insert the missing number :
16 1517 14,
32733"31"34"
N 12 ) o 18 o 18
(A) 35 B) 3 € 35 D) 3o
22.  Monday falls on 20™" March 1995. What was the day on 3" November 1994 ?
(A) Thursday (B) Sunday (C) Tuesday (D) Saturday
23. The average of four consecutive even numbers is 27. The largest of these numbers is :
(A) 36 (B) 32 (© 30 (D) 28
24. In a certain code, FHQK means GIRL. How will WOMEN be written in the same
code ?
(A) VNLDM (B) FHQKN (C©) XPNFO (D) VLNDM
25. At what time between 4 and 5 O’Clock will the hands of a watch point in opposite
directions ?
(A) 45 min. past 4 (B) 40 min. past 4
4 6
Q) SOH min. past 4 (D) 54H min. past 4
26. Which of the following conclusions is logically valid based on statement given below ?
Statement : Most teachers are hard working.
Conclusions : (I) Some teachers are hard working.
(I) Some teachers are not hard working.
(A) Only (I) is implied
(B) Only (II) is implied
(C) Both (I) and (II) are implied
(D) Neither (I) nor (II) is implied
WXYZ—-00 10
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20. HE SR FHFR & o= | B T Hag o fafid T80 %

(A) HHI-HH S (B) g Hrvften Herg

(C) fesited ara=ia (D) A< Gishaan
21. STYcTe HE&AT i ST-TAd e

16 15 17 14 ,

32°33731"34""

19 19 18 18

(A) 35 B) 3 ©) 35 D) 3
22, 20 €, 1995 S WHAR o1 3 TR, 1994 1 SF A1 feT or?

(A) TEHfTER (B) @R (C) HITAIR (D) e
23. =R hids 99 HEmel w1 3iHd 27 T 1 590 9 W9 9 JS GE i 3R @

(A) 36 (B) 32 (C) 30 (D) 28
24. T Hfgar faviw § FHQK =T 319 GIRL ® | 391 Hfear § WOMEN o YR feran simamm 2

(A) VNLDM (B) FHQKN (C) XPNFO (D) VLNDM
25. 43R5 9N & sl Rt =S i i fhaw et fauda feenedi & stafeeq g 2

(A) 4 ISR 45 THTe ™ (B) 4 SSTehT 40 fH7e W

Q) 4W50%ﬁﬂzm (D) 4HW54%ﬁF|ZtIT
26. Trfafaa sfa  snenfa = 3gya frewef # & fafy A siR du 872

HUT ;. sTfuekiy foreres aftendt € ¥

frerd . () oo T ofed 2@ )

(1) T foremes 9l 767 2 1

(A) T () I E1a T

(B) M (II) I HT 2|

(Q) () W& (I) I Fferd HTa € |

(D) (1) W (I1) I g ETa 78 § |
WXYZ —00 11 P.T.O.
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27.  Who among the following can be asked to make a statement in Indian Parliament ?

(A) Any MLA

(B) Chief of Army Staff

(C) Solicitor General of India
(D) Mayor of Delhi

28.  Which of the following conclusions is logically valid based on statement given below ?
Statement : Most of the Indian states existed before independence.
Conclusions : (I) Some Indian States existed before independence.

(II) All Indian States did not exist before independence.

(A) only (I) is implied
(B) only (II) is implied
(C) Both (I) and (II) are implied
(D) Neither (I) nor (II) is implied

29. Water is always involved with landslides. This is because it :

(A) reduces the shear strength of rocks

(B) increases the weight of the overburden
(C) enhances chemical weathering
(D) is a universal solvent

30. Direction for this question :

Given below are two statements (a) and (b) followed by two conclusions (i) and (ii).
Considering the statements to be true, indicate which of the following conclusions
logically follow from the given statements by selecting one of the four response
alternatives given below the conclusion :

Statements : (a) all businessmen are wealthy.
(b) all wealthy people are hard working.
Conclusions : (i)  All businessmen are hard working.

(i) All hardly working people are not wealthy

(A) Only (i) follows
(B) Only (ii) follows
(C) Only (i) and (ii) follows
(D) Neither (i) nor (ii) follows
WXYZ —-00 12
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27. YR TS H fFA o701 foeR W it STgAfd <t T Hehdt 2
(A) =it faumes

(B) ot & TG

(C) ¥RA o HeTHaer (Hifafeet Sa 1w sfean)

(D) feeett & werdR

28. frefafaa wem w sneafa wiF 9 frend fafy-fafea du €2
HUT ;TR R Rerd @ae ge ot stefeerd off |
s . () o v Remwdl &1 st Tdw gd ot o

(1) It R famed S g6 st o 721 ot |

A) FHad (1) faafea 2

B) ad (II) faafam 7

C) (1) 3R (1) I faafer 2

D) (1) 3iR (1) 3 foafaa =& 2

(
(
(©
(D)

29. EEe | St i yfieht AfEr ¥ 139 6 R0 E
(A) & Y St FHARAT hi faforer e 2

(B) T W & H gfg L |

(C) wrafieh Hfshan w1 SfSid st 2|

(D) S T FAHHF A TG HE 1 WL T

30. 39 ¥ % forg foum fdw -
T e (a), (b) SR TR (i), (if) FrifoRd B | el 6 et o1 WierRd 3T a4 fenet &
fafeaa ¢, 7 «ft ffeea =t i fFrefafea or fasedl 8 9 ®F 1 faseq a9aea § aftia e
R 7R 1 R T fashed @t = W

HIT:  (a) S R oA )
(b) Tt e =AfE it ¥
fremd : () W ool aferd T ¥
(i) T uferd =fa e 7= €
(A) A (1) T 7
(B) M (i) W& ¥
(C) W (i) 3R (ii) T &
(D) (i) 1 (i) & § FE WEI & §
WXYZ —00 13 P.T.O.
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31. Using websites to pour out one’s grievances is called :
(A) cyberventing (B) cyber ranting
(C) web hate (D) web plea
32. Inweb search, finding a large number of documents with very little relevant information
is termed :
(A) poor recall (B) web crawl
(C) poor precision rate (D) poor web response
33. The concept of connect intelligence is derived from :
(A) virtual reality (B) fuzzy logic
(C) Dbluetooth technology (D) value added networks
34. Use of an ordinary telephone as an Internet applicance is called :
(A) voicenet (B) voice telephone
(C) voice line (D) voice portal
35. Video transmission over the Internet that looks like delayed livecasting is called :
(A) virtual video (B) direct broadcast
(C) video shift (D) real-time video
36. Which is the smallest North-east State in India ?
(A) Tripura (B) Meghalaya
(C) Mizoram (D) Manipur
37. Tamilnadu coastal belt has drinking water shortage due to :
(A) high evaporation
(B) sea water flooding due to tsunami
(C) over exploitation of ground water by tubewells
(D) seepage of sea water
WXYZ—-00 14
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31. 37U THEET Sl JOHES 5 WHIRT i hi UhaT hl hed © :
(A) wrEaEfe (B) W I (C) dawe (D) o9& it

32. 4 gN Afuek He H U qxadsi st Wiy e Seifea e s st &, SH e S ©
(A)  &ffor Tor gishan (Y fehret)
(B) & T (SIS hied)
(C) fha fafy =t gelera (ger Wifawm @)
(D) geel o TegeR (3T ol THUiH)

33. H&W WG &THAT HI STAURVN Fal & o T 2

(A) HYd g (B) wifqgerss Tk
(C) =TI U keI (=TI oHTairsit) (D) W& SATd ek (7Y TSE Heaeh)

34. WY AT H1 HAER Uk e SURT F YR hl Had ¢ :
(A) 9" A (B) dfH el (C)  died WA (D) dfed Ui

35. F=Oie W Aifed JHRu St foefied Yo TER Sl €Y R0 6Kl § 3 e ©
(A) arfae difedl (av=ga sifearn) (B) WcH& YERU
(C) =ffear TemmRm (D) HHF Haeh atedl

36. 9Rd T T Biel IT-Ye ToF HH ¢
(A) Frgu (B) T (C) e (D) TR

37. AT & qed & H Yl shi Al o R Freiferd €
A) 3tk A H et o H gfed g
B) A % HRUT WG ST I FoIdT

C) eed g YfHTd STer&iX 1 =< ST

(
(
(
(D) HHET 9 W @R IH! 1 e
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38. While all rivers of Peninsular India flow into the Bay of Bengal, Narmada and Tapti
flow into the Arabian Sea because these two rivers :

(A) Follow the slope of these rift valleys
(B) The general slope of the Indian peninsula is from east to west
(C) The Indian peninsula north of the Satpura ranges, is tilted towards the west

(D) The Indian peninsula south of the satpura ranges is tilted towards east

39. Soils in the Mahanadi delta are less fertile than those in the Godavari delta because
of :

(A) erosion of top soils by annual floods
(B) inundation of land by sea water
(C) traditional agriculture practices

(D) the derivation of alluvial soil from red-soil hinterland

40. Which of the following institutions in the field of education is set up by the MHRD
Government of India ?

(A) Indian council of world Affair, New Delhi
(B) Mythic Society, Bangalore
(C) National Bal Bhawn, New Delhi

(D) India International Centre, New Delhi

41. Assertion (A) : Aerosols have potential for modifying climate
Reason (R) : Aerosols interact with both short waves and radiation
(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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38. TRl WG R ot SAferehist el 1 TH= STet ot @It | B §, et e iR v A
3T WIR H Hwifed gt € i o 3

(A) I % T % ITTET el € |

(B) WG YRA 1 @I HHIG: Jd | ufeed ot iR T

(C) TAYT TEqHIE & I H e AT TIgrd aieem ot AR stfeen = €1
(D) TAYY YAqHIC o faror H feord MRdT g 1 379 o st 3R gehdn €

39. TRMRI <T@ i qfH i I TMeEd S § A T o HRU T
(A) STAASA % HROT HRl YfH <l Herel
(B) TR BT HTE T AT
(C) TRERFTA FHfY Jeft
(D) 39 YfH 1 o fHgl R e

40. Toenm & a3 ¥ fr=afafed O 9 forg Seem it L9 YRa IR & JHa 99req faerd gamed
TN H T :

(A) EfeTm wifaa A1h ac oThR, T8 foeel (B) fhferer IreEdl, STER
(C) ¥HaA & wod, =1 feeet (D) Efean Serema de, 78 fooett

41. 3fYeRed (A):  IEERY B fod i § Sorarg 1 ufafdd s @t aigd Fid 7
T (R) : Y% U1 oY el TS 534 ¥ ToRtonl sl o7 Ufehan H 9T =it |
(A) (A) 3R (R) TE FA € 3R (R), (A) T & ==AT T
(B) (A) 3R (R) Sl T ¥ W (R), (A) 1 3ot fawermor =& 21
(C) (A) T ¥ W (R) 1A T
(D) (A) 978 § T (R) T |
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42. ‘SITE stands for :
(A) System for International technology and Engineering
(B) Satellite Instructional Television Experiment
(C) South Indian Trade Estate

(D) State Institute of Technology and Engineering

43. What is the name of the Research station established by the Indian Government for
‘Conducting Research at Antarctic ?

(A) Dakshin Gangotri
(B) Yamunotri
(C) Uttari Gangotri

(D) None of the above

44. Ministry of Human Resource Development (HRD) includes :
(A) Department of Elementary Education and Literacy
(B) Department of Secondary Education and Higher Education
(C) Department of Women and Child Development

(D) All the above

45. Parliament can legislate on matters listed in the State list :
(A) With the prior permission of the President.
(B) Only after the constitution is amended suitably.
(C) In case of inconsistency among State legislatures.

(D) At the request of two or more States.
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42.

43.

44.

45.

‘SITE &1 319 § :

(A) T wR SeivHa st 3fmg gesTfa (System for International technology

and Engineering)

(B) TS SgaRIT Seiiedisi TRTUdHe ( Satellite Instructional Television Experiment)

(C) w=Y EE¥M ¢ $=2 (South Indian Trade Estate)

(D) e 3G % THIAS ST+€ TSN (State Institute of Technology and

Engineering)

A TR G TR T 9N o Tfud Ser hrieiet o1 = 1 § 2
(A) Sferor T

(B) T

(C) 3T Tsh

(D) T 9 & +ff T

e Harge faer waeE | feiferd feme wftufed €
(A) Hrften f3en T Herd faym

(B) WIeATHS: Te 3= HieafHeh e fowm

(C) e wa Ry forepr forvm

(D) W fafed g+t

T = H et foweil W Heg fagees i Y wehd! ©
(A) Tl 1Y STIAM T

(B) oTufaa Hawife Gele o e

(C) T faumawsti # Wenfd &1 e19E

(D) < YA I AF T & Y R
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Question Number 46 to 50 Not for VISUALLY HANDICAPPED CANDIDATES.

The following pie chart indicates the expenditure of a country on various sports during
a particular year. Study the pie chart and answer it Question Number 46 to 50.

Hockey é”
o
a N\ 15% [ 10%
0, &0
5 X
15% ¢ 0%

Basket ballg
Cricket o
% 1219%

25% 1
125%

46. The ratio of the total expenditure on football to that of expenditure on hockey is :
(A) 1:15 B 1:1 (C) 15:1 (D) 3:20
47. If the total expenditure on sports during the year was Rs. 1,20,000,00 how much was
spent on basket ball ?
(A) Rs. 9,50,000 (B) Rs. 10,00,000
(C) Rs. 12,00,000 (D) Rs. 15,00,000
48. The chart shows that the most popular game of the country is :
(A) Hockey (B) Football
(C) Cricket (D) Tennis
49. Out of the following country’s expenditure is the same on :
(A) Hockey and Tennis (B) Golf and Basket ball
(C) Cricket and Football (D) Hockey and Golf
50. If the total expenditure on sport during the year was Rs. 1,50,00,000 the expenditure
on cricket and hockey together was :
(A) Rs. 60,00,000 (B) Rs. 50,00,000
(C) Rs. 37,50,000 (D) Rs. 25,00,000
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Y 46 | 50 Tk FY-fashen safdat o foe 7@ §)

fretifera Wt forelt <o & foafie @al w aiffer =1 1 ggdieeer e €1 @ fo
STACIR Y Y9 HEAT 46 H 50 T IW S |

™ o

%% 15%

15% %@10%

SHHE Ffey

whe %é\ 121%
25%

123%

46. el TRl & AT H ToRe=T =2 go ¢
(A) 1:15 (B) 1:1 (Q) 15:1 (D) 3:20
47. A ©A-F3 § Thad | Fd 2 1,20,000,00 €1 T T Sehedra W fhat e @< &l T -
(A) 9,50,000 ¥9F (B) 10,00,000 &9
(C) 12,00,000 T (D) 15,00,000 &9
48. @ fo=1 3 e © fof <91 o1 walfys Aeniyd O ©
(A) @il (B) esid
(GEREET (D) f1=
49. fr=fafes O« § - 9um €
(A) Tl T M| (B) TIicWh T sehesiicl
(C) fohehe Td Fedlal (D) @ikl Td TMeh
50. f U& od § Wa-$g FA A9 1,50,00,000 T T O fohehe W &l W Aiwfea = =
THRE :
(A) 60,00,000 T (B) 50,00,000 &9
(C) 37,50,000 T (D) 25,00,000 &9
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Question Number 46 to 50 FOR VISUALLY HANDICAPPED STUDENTS ONLY.

46. Which one of the following objectives is not included in the 734 Constitutional
Amendment of India :

A) To increase the productivity of the land
B

~—

(

( To reduce regional disparity in development
(C) To generate employment
(

D) To provide essential infrastructure facilities and amenities to the people

47. Corporative EIA (Environmental Impact Assessment) is to be conducted for :
A) the whole year

B the moist season

~—

C) any three seasons

(
(
(
(D) three seasons excluding monsoon

48. Which of the following contains 3/4 of the available fresh water in the world :

(A) Lakes (B) River water (C) Glaciers (D) Ground water

49. Which continent comprises 30% of the land area of the earth ?

(A) Australia (B) Asia (C) South America (D) Europe

50. It is believed that our globe is warming progressively. This global warming will
eventually result in :

A) melting of the polar ice
B

~—"

(

( uniformity of climate at equator and pole
(C) fullin see level
(

D) increase in availability of usable land

-00o0-
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U9 46 | 50 ek giP-faerona forenft #q)

46. 73 o Gawfre Geiem ® fre # 9 S seva wfmferd @ 22
A)  ofH T IS A I

B) forera # &t foroman sl S<qeA

C) TR & rael # el

D) NIRE sl HeIqd &= o Glaurd gaM T

~—

(
(
(
(

47. TSROl Hefda yumd it THieT (EIA) 1 HEE

(A) TH T

(B) THtaTen Had

(C) = +ft T By

(D) HFE i wigsh g *ft i Fqd

48. TrAfafaa o 4 fead fava =1 3/4 Toee veifia ©72
(A) & (B) &I 1 S
(C) TIRmR (D) ofa Sid

49. M U1 HEISY ¥R % Y&F %k 30% A H AW T
(A)  sTeferan (B) TRmn (C) W=y Wi (D)

Dy

50. E fovame foran smar € o R Aree fe sifes soor iar S @ €1 U staEmon ® fo

ST=TATC 39 fshan < 1 fafaa afomd 2 -
(A)  geita fer Es o faser

(B) YJ TS THAR R AN qHHM FHi GE
(C) HHeEE TR ¥ fimae

(D) AR & | Ferad

-00o0-
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